

Fl. 19/11 Thematik  
 13/entlast 10/27  
 1/4/2011/entlast 10/27

1)  $T_0 = e^{2x}$   
 20h

$$T' = (2x+1)e^{2x}$$

$$T'' = 2e^{2x} + (2x+1)(2e^{2x})$$

$$T''' = 2T + (2x+1)T'$$

hence

$$T'' = T'(2x+1) + 2T$$

$$T^{(n+2)} = y^{(n+1)}(2x+1) + (n+1)y^{(n)} \cdot 2$$

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^{(n)}$$

2)  $T_0 = x^3 e^{4x}$

$$T^n = \frac{4^n n!}{2!} x^2 + \frac{n(n-1)(n-2)}{3!} x^3 + \dots$$

let  $x^3 = y$  and  $a = e^{4x}$

$$T^{(5)}(40)^5 e^{4x} \cdot x^3 + 5(4)^4 e^{4x} \cdot 3x^2 + 10(4)^3 e^{4x} \cdot 6x + 10(4)^2 e^{4x} \cdot 6$$

$$y^{(5)} = 1024 x^3 e^{4x} + 3840 x^2 e^{4x} + 3840 x e^{4x} + 960 e^{4x}$$

$$y^{(5)} = e^{4x} [1024 x^3 + 3840 x^2 + 3840 x + 960]$$

3)  $x^2 \frac{dy}{dx} + x \frac{dx}{dy} + y = 0$

$$x^2 y' + x \frac{1}{y} + y = 0$$

$$x^2 y^{(n+2)} + x y^{(n+1)} + y^{(n)} = 0$$

using Leibnitz theorem

$$y^{(n)} = y^{(n+2)} \cdot x^2 + n \cdot 2x y^{(n+1)} + \frac{2n(n-1)}{2!} y^{(n)} + y^{(n)} \cdot 2 + n y^{(n)} + y^{(n)}$$

$$y^{(n)} = x^2 y^{(n+2)} + 2x y^{(n+1)} + n(n-1) y^{(n)} + 2x y^{(n+1)} + n y^{(n)} + y^{(n)}$$

$$y^{(n)} = y^{(n+2)} (x^2) + y^{(n+1)} (2x + 2x) + y^{(n)} (n(n-1) + n + 1)$$

$$y^{(n)} = x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2 - 1) y^{(n)}$$

$$x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2 - 1) y^{(n)} = 0$$